
&electric field

Particle with chase of experiences a force
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-=fef is a conservative vector field

this is a gradient

frez) = - GCX2MPHER2
-3/2

of = - & ()(x2-5727) 2x



= QCx7y4zE**x

If
Ey
= QCHET*Y * = (x1412)

Ef a Q (xTry7Zz

If = QCEM* (xYIE)
· (,4,z)

=QCTRIET*
&

↑
O

=G (II112)*** -⑰
= QVII E

-fot= gi T = E! *



= (a(n)sbkxx)

If F = of then F = CEt Ef)
<S

↓ bf =

by Ex a Ef

F = <ys-3x) is it conservative?

No: why us. E4d
1 vs. - 3 17-3 so

↑

is not conservative.



F = <a, b,c)

eizleb necess
footbe eas

I conservative

boy

Ea = EC

E. Ef=EGt

EEf=Iby 2z
&t = EE



Line Integrals

How to integrate "things" along curves

↑S Two types of things
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curve @ a) "desity" type

b) "work" type
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Steps: 1) pormeteize the curve
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